TRY D+

A>lg 98, (59 @y pine ] 3) &y inall HgwuSUl o)

X

1.546

9.57

4.7

8.198

6.3

1.425

3.8

1.21

7.2

7.865

9.7

5.699

7.5

5.933

1.455

3.8

9.47 1

4.2

0.16 2

2.619

2.82

3.04

1.047
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5.137

8.97 1

3.128

3.185

7.46

2wl

1.607
2.1

285

7.1

9.91

4.2

0.279

6.5

3.657

7.6
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TRY D+

2>lg 28, (59 &y yuine o6l 3) &y il oSl O o)

p_wk

1.546
X 5
7,73

9.57
X 4.7
44,979

8.198
X 6.3
51,6474

1.425
X 3.8
5,415

1.21
X 7.2
8,712

7.865
X 9.7

76,2905

5699
X 7.5

42,7425

5.933
X 4
23,732

1455

X 3.8

5,529

9.47 1
X 4.2

39,7782

0.16 2
X 4.3
0,6966

2619
X 4.9
12,8331

2.82
X 4.1
11,562

3.04
X 4
12,16

1.047
X 5.9
6,1773
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|

5.137
X 3
15,411

8.97 1
X 7.9
70,8709

3.128
X 7
21,896

3.185
X 3.7
11,7845

746
X 5.8
43,268

2wl

1.607
X 2.1
3,3747

285
X 7.1
20,235

9.91
X 4.2
41,622

0.279
X 6.5
- 1,8135

3.657
X 7.6
27,7932
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